
MAHA SODHI SCHOOL 

2021 SEMESTRAL ASSESSMENT 2 

PRIMARY FIVE SCIENCE 

(BOOKLET A) 

Name: ( 
----------

CI ass : Primary 5 _______ _ 

Date : 2 November 2021 

) 

Total Duration for Booklets A and B: 1 h 45 min 

INSTRUCTIONS TO CANDIDATES: 

1 . Do not tum over this page until you are told to do so. 

2. Follow all instructions carefully.

3. Answer all questions.

4. Shade your answers in the Optical Answer Sheet (OAS) provided.

This booklet consists of 19 printed pages. 







































































M
�

 A 
S,

 o.t:>
1

1 
�

+)
 2.

1
. 

2
 

6
. 

4
 

1
1

. 
4

 
1

6
. 

2
 

2
1

. 
3

 
2

6
.

2
 

2
. 

1
 

7
. 

2
 

1
2

. 
3

 
1

7
. 

1
 

2
2

. 
2

 
2

7
. 

1
 

3
. 

4
 

8
. 

3
 

1
3

. 
4

 
1

8
. 

4
 

2
3

. 
1

 
2

8
. 

4
 

4
. 

4
 

9
. 

2
 

1
4

. 
4

 
1
9

. 
3
 

2
4

.
2

 

5
. 

1
 

1
0

. 
1

 
1

5
. 

2
 

2
0

. 
4

 
2

5
. 

2
 

29 
a 

i 
Lung{s) 

ii 
W

ind pipe 
b 

D
uring exercise, he breathes faster to take in/breathe in m

ore oxygen for respiration. A
t the sam

e 
tim

e, his lunas/ bodv needs to rem
ove carbon dioxide that is oroduced bv his bodv auickiy. 

3
0

 
a 

The am
ount of oxyQen in the air decrease as the heiQht above sea level increases. 

b 
A

nv value betw
een 6.8 -

8.2%
(exclude 6.8%

 and 8.2%
) 

C
 

The am
ount of oxygen has becom

e lesser as he clim
bs higher. 

H
is heart needs to beat faster to transoort blood that contain enouah/sufflclent oxvaen to his bodv. 

3
1 

a 
The /fem

ale\ flow
er/ The ovarv has m

anv ovules. O
vules develooed into seeds. 

b 
V\l

ind-pollinated.The anther that Is outside and exposed to the w
ind and the stigm

a that sticks out. 
These characteristics increase the chances of Pollen □rains beina blow

n bv w
ind to the stiam

a. 
32 

a 
S

o there w
ill be less com

petition for w
ater liCJht, space and m

ineral salts/nutrients. 
b 

Fruit G
: P

lant D
 has m

ore young plants further from
 the parent plant. The seeds of Fruit G

 haye a 
w

ing-like structure but the seeds of Fruit H
 do not/unlike Fruit H

. S
o the w

ind w
ill carry

 the seeds of 
Fruit G

 further from
 parent plant after sPlittlna. 
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-·· .. 
The w

ater vapour in the surrounding air lose heat to the cooler {outer) surface of the pla·stic container 
and condenses to becom

e w
ater dronlets. 

C
 

There is =
�re exnns"d �11r1

��
0

 area of the ice to m
>in heat from

 the surroundina air to m
elt. 
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a 

A
ll the variables m

ust tick. 
b 

To ensure that any change in the tem
perature of w

ater Is due to the presence of air In the bubble w
rap 

as the tem
perature of the surrounding air can affect the tem

perature of the w
ater in the beaker. 

To ensure that the tem
oerature of the surroundinas does not affect the results of the exoerlm

ent. 
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G
raph : X

 show
s that the tem

perature of w
ater decreases slow

er than graph Y
. A

ir Is a poor conductor 
of heat/not a aood conductor.The hot w

ater In the beaker w
ill lose heat slow

er Ito the surroundina\. 
A

n electrical conductor allow
s electrlcitv to flow

 throuah it. 
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hEl_c)iP._S,_;,Y
e_fEl n_ot attr.:ictes:].t'!_

<J_ri-m
etals are_ nc,t rn

ag�etic so Q
 cannot be m

agr1e0s�d., 
__

_ . 
___

__
__

__ 
Ice chanaed from

 solid to liouid. 
The air in the container occupies space

/ air could not escape from
 the container 

A
ir occuoles soace and w

ater cannot enter the container/ there w
as not enounh snace for the w

ater. --
M

ake a hole at the lid / container so that air can escape and w
ater can occupy the space previously 

occuoled bv the escaolna air I air can be disolaced bv w
ater 

W
hen the path of liaht is blocked by an opaoue obiect a shadow

 is form
ed. 
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The length of her shadow
 decreased from

 X
 to Y

 and the length of her shadow
 increased as she 

w
alked from

 Y
 to Z

 
S

heet H
 aalned m

ore heat/oalned heat faster and exnanded m
ore 

The inner layer gained heat first so the inner layer expanded faster than the outer layer causing it to 
crack. 
There w

as uneven exoanslon of the !avers w
hich caused the inner !aver to crack 

flexibility 
Thickness of m

aterial 
M

aterial Y
.lt did not bend at all.Table leas should not bend/stiffesVstiff 

The like no1es of the m
aanets are faclna each other. 

H
e can flip.H

e should observ
e it floatino above G

. O
nlv m

aanet can repel another m
a□net. 
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